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 

 
2010 

I  
1U=220VI=2,5A 

12 

R=U/I  ع  .    تR=220/2,5=88Ω 
12 

P=UxI ع   .   تP=220x2,5=550W  
  2(220V-1000W) 

2W1000V2202 

W1000 القدرة الإسمية        :  تمثلV220 التوتر الإسمي: تمثل 
2–(Wh)2h2 

E=Pxt ع   .     تE=1000x2=2000Wh   
3C=2,3Wh/tr n=200tr 

2 

E=nxC  ع   .      تE=200x2,3=460Wh    
 

II 
   AB=1cm OA=2,5cm f=5cm  

12 

C=1/f     مع     f=5cm=0,05m  ع   .    ت  C=1/0,05=20δ   
22 

   F’       (f=OF’=OF)  أو   F  و إحدى بؤرتي العدسة   Oھي المسافة بين المركز البصري 
  

3A’B’2 

 
4 2 

وھمية معتدلة 

 A’B’>AB , OA’>OA  
 
5α’=0,2RadG=1,5  

α 2 

α=α’/G ع   .     تα=0,2/1,5=0,13Rad     

 


